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ARl A OFE | T F | B EEE| A £ |81 F | EEK | BEE] X £ | A1 F | BEK [ EERE] A F [ a1 F | BEK | EEE

= it 5, 050 5, 165 -115 -2.2 36 33 +3 +9.1 5, 985 6, 064 =79 -1.3 325 336 -11 -3.3
185 1,188 1,280 =92 =1.2 16 9 +7 ] +71.8 1,409 1,526 =117 =1.1 76 93 -17 ] -18.3
2H% 1,212 1,228 -16 -1.3 6 6 =0 | =#0.0 1, 406 1, 406 +0 +0.0 87 82 +5 +6. 1
3AH 1,296 1,367 =71 =5.2 8 9 -1 ] -11.1 1,571 1,598 =21 -1.7 73 85 -12 | -14.1
4 Fm 1,354 1,290 +64 +5.0 6 9 -3 ] -33.3 1,599 1,534 +65 +4.2 89 76 +13 | +17.1
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A7l A F | BT F | MBER | BEENA F (A1 F | BEK | BEE| A F | 61 F | BERK | BERE| X F | 61 F | BERk | EBRE
1 A X 1,188 | 1,280 -92 -1.2 16 9 +7 | +77.8 ] 1,409 [ 1,526 -117 [ -71.7 76 93 -17 | -18.3
2 B X 2,400 [ 2 508 -108 -4.3 22 15 +7 | +46.7] 2,815 [ 2 932 -117 [ -4.0 163 175 -12 -6.9
3 A X 3,696 [ 3,875 -179 -4.6 30 24 +6 | +25.0 ] 4,386 [ 4,530 -144 [ -3.2 236 260 -24 -9.2
4 B X 5,050 [ 5 165 -115 -2.2 36 33 +3 +9. 1 5,985 [ 6,064 -79 | -1.3 325 336 -11 -3.3
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